

۱- رشتگیان

$$(1! + 3! + 5! + \dots + 25!) \left(\frac{2! + 4! + 6! + \dots + 24!}{24!} \right)$$

از اینجایی به بعد یکسان صفر

✓ کجای حاصل ۲ است

$$9 \times 7 = 63$$

۲- حاصل عبارت های زیر را بنویسید

الف) $\sqrt[4]{(4 + \sqrt{5})^{-1}} \sqrt{1 + \sqrt{5}}$

$$\sqrt[4]{\frac{1}{4 + \sqrt{5}}} \times \sqrt{(1 + \sqrt{5})^2} = \sqrt[4]{\frac{1 + \sqrt{5} + 2\sqrt{5}}{4 + \sqrt{5}}} = \sqrt[4]{2}$$

ب) $\left(\frac{\sqrt{5} + \sqrt{5}}{\sqrt{10} + 2} \right) \left(\sqrt{3 - \sqrt{5}} - \sqrt{3 + \sqrt{5}} \right)$

$\frac{1}{2} \times \frac{\sqrt{2} + 2\sqrt{10}}{4 + 4\sqrt{10}} = \frac{\sqrt{2}}{4} \times -\sqrt{2} = -1$

۳- الف) $\frac{\sqrt{8} + \sqrt{12}}{5 - \sqrt{4}} - 2 \left(\sqrt[4]{9} - 1 \right)^{-1} \frac{\sqrt{3} + 1}{\sqrt{3} + 1} \times \frac{-2}{\sqrt{3} - 1}$

$$\frac{2\sqrt{2} + 3\sqrt{3}}{5 - \sqrt{4}} \times \frac{5 + \sqrt{4}}{5 + \sqrt{4}} = \frac{10\sqrt{2} + 15\sqrt{3} + 4\sqrt{2} + 9\sqrt{3}}{25 - 4} = \frac{14(\sqrt{2} + \sqrt{3})}{21}$$

$\sqrt{2} + \sqrt{3} - 1 - \sqrt{3} = \sqrt{2} - 1$

ب) $\frac{\sqrt{27} - 1}{4 + \sqrt{3}} + (2 - \sqrt{3})^{-1}$

$$\frac{3\sqrt{3} - 1}{4 + \sqrt{3}} \times \frac{4 - \sqrt{3}}{4 - \sqrt{3}} + \frac{1}{2 - \sqrt{3}} \times \frac{2 + \sqrt{3}}{2 + \sqrt{3}}$$

$$\frac{12\sqrt{3} - 13}{13} + \frac{2 + \sqrt{3}}{13} = \frac{\sqrt{3} - 1 + \sqrt{3} + 2}{2} = \sqrt{3} + 1$$

یا، ساجدی

الف) $\frac{\sqrt{1+\sqrt{3}} + \sqrt{\sqrt{3}-1}}{\sqrt{\sqrt{3}-\sqrt{2}}} \alpha \sqrt{\sqrt{3}+\sqrt{2}} \geq 10 + 8\sqrt{9}$

$\alpha (\sqrt{3} + \sqrt{2})$

$\frac{10 + 8\sqrt{9}}{1} = (2 + \sqrt{9})^2$

$\sqrt{9}$

$$\begin{aligned} & \sqrt[3]{\frac{1}{r^2} \times \frac{1}{r^2} \times \frac{1}{r^2}} \times 147 \times \sqrt[3]{\frac{1}{r^2} \times \frac{1}{r^2} \times \frac{1}{r^2}} \\ & \sqrt[3]{\frac{1}{r^2} \times \frac{1}{r^2} \times \frac{1}{r^2}} \times \sqrt[3]{\frac{1}{r^2} \times \frac{1}{r^2} \times \frac{1}{r^2}} \\ & \sqrt[3]{\frac{1}{r^2} \times \frac{1}{r^2} \times \frac{1}{r^2}} \times \sqrt[3]{\frac{1}{r^2} \times \frac{1}{r^2} \times \frac{1}{r^2}} \end{aligned}$$

$$f = n$$

$$r^r \times r^{n-r} = r^n$$

$$\mu^{n-1} \quad \gamma^{n-1}$$

$$b = \sqrt[4]{\sqrt{a} + 1} \quad a = \sqrt[4]{\sqrt{a} - 1} \quad -9$$

$$(a^2 + b^2 - 2ab)^2 (a^2 + b^2 + 2ab)^2 = t(1 - \sqrt{14})$$

درستی

$$(a^2 - b^2)^4 = (\sqrt[4]{14} (\sqrt{\sqrt{14} - 1} - \sqrt{\sqrt{14} + 1}))^4 = 14$$

مقدار

$$14(1 + 1 - 2\sqrt{14})^2 = 14(1 - \sqrt{14})^2$$

$t = 14$

$$(a + \frac{1}{a} + \sqrt{14})^2 (a + \frac{1}{a} - \sqrt{14})^2 = t$$

درستی $a = \sqrt[4]{14 - 4\sqrt{14}}$

$$\sqrt[4]{(1 - \sqrt{14})^2} = \sqrt{1 - \sqrt{14}}$$

مقدار $t = 14$

$$(a^2 + \frac{1}{a^2} + 2 - \sqrt{14})^2 = (\frac{a^4 + 1}{a^2})^2$$

$$\frac{(a^2 + \frac{1}{a^2})^2 + 1}{(a^2 + \frac{1}{a^2})^2} = (\frac{14 + 4\sqrt{14}}{1 - \sqrt{14}})^2$$

$14 = \frac{14 + 4\sqrt{14}}{1 - \sqrt{14}}$

$$\sqrt[10]{10} \times \sqrt[10]{10} = 10$$

$$(10)^{-\frac{1}{10}} = \frac{1}{\sqrt[10]{10}}$$

$$\sqrt[10]{\frac{1}{10}} = \frac{1}{\sqrt[10]{10}}$$

$t = 14$

$$t(14)^{-\frac{1}{10}} = A = \sqrt[10]{14} \sqrt[10]{14} (\frac{1}{14})^{-\frac{1}{10}}$$

$A = 14$

جذبہ (۱۴۱۱) است

$$a = \frac{1}{\sqrt{r}}$$

$$\frac{1}{a} \approx \sqrt{\mu}$$

$$\frac{\mu\sqrt{\mu} - \mu}{1 + \sqrt{\mu}}$$

$$I = \gamma \vee x a^r$$

$$= \frac{3(\sqrt{x}-1)}{\sqrt{x}+1} \times \frac{\sqrt{x}-1}{\sqrt{x}-1}$$

$$\frac{r(r+1 - r\sqrt{r})}{r}$$

$$z = \frac{9 + i - 8\sqrt{2}}{5}$$

$$= \frac{12 - 9\sqrt{3}}{2} = 4\sqrt{3}$$

$$\sqrt{n+a} + \sqrt{n-r} \stackrel{+}{\sim} \sqrt{n+a} - \sqrt{n-r} = r \quad -16$$

$$(\sqrt{n+a} + \sqrt{n-r}) (\sqrt{n+a} - \sqrt{n-r}) =$$

$$x+a - n + r \quad a+r = r \times \sqrt{n+a} + \sqrt{n-r}$$

$$\frac{a}{r} + \cancel{r} - \cancel{r} = \frac{a}{r} \quad \frac{a}{r} + r = \sqrt{n+a} + \sqrt{n-r}$$

④